XP—4RFUEEH -7~ el &
XP - 4 SERIES GEAR BOX - PRODUCT SPECIFICATIONS

M 23R E Sectional Drawing

@ it Output shaft

@ jHET Oil seal

® W 4HBT4H7E Output shaft front bearing
@ 4724 Planetary gear

® ABEES Solar wheel

® i35 Front cover

@ HihfSim& Output shaft rear bearing
VITSIERF Adjusting nut

© X5\ FasEfhta# Double row angular contact bearing
@ HHHEREE Output bevel gear

@ EFfAFAPK Right angle box

@ INHESE Input bevel gear

@ BHRIZE Lock nut

@ HINEXIHES Input coupling

© $1{£%28 Locking device

@® f5== Rear cover

@ S Rear cover gasket

I
m
T
0O
>
—
®
m
>
Py,

B REEMN T EEEEL Reducer Performance Data

g REL RIEEL,
Specifications Node Number Reduction Ratio 060 030 5 142 180
3 36 90 195 342 588
4 48 120 260 520 1040
5 60 150 325 650 1200
6 55 150 310 600 1100
- 7 50 140 300 550 1100
AR Ty Nm ! 8 45 120 260 500 1000
9 40 100 230 450 900
10 40 100 230 450 900
14 42 140 300 550 1100
20 40 100 230 450 900
ST, Nm 1 3~200 SfEEEim e
BUEN\ERE n,, rpm 1 3~200 5000 4000 4000 3000 3000
ERABINGEER n,, rpm 1 3~200 10000 8000 8000 6000 6000
RS PO arcmin 1 3~20 - <2 <2 <2 <2
SRS P1 arcmin 1 3~20 <4 <4 <4 <4 <4
RS BR P2 arcmin 1 3~20 <6 <6 <6 <6 <6
AN Nm/arcmin 1 3~200 1 14 25 50 145
BFRAS N 1 3~200 1530 3250 6700 9400 14500
FHIEA Fyy, N 1 3~200 630 1300 3000 4000 6200
VAT e N 1 3~200 765 1625 3350 4700 7250
FRES hr 1 3~200 20000*
BE N % 1 3~20 >95%
=8 Kg 1 3~20 2.1 \ 6.4 \ 13 \ 245 \ 51
FRRE °C 1 3~200 -10°C~+90°C
HEh) 1 3~200 EakiEiEHiE
PP 1 3~200 IP65
E‘Eﬁﬁrﬁj 1 3~200 F=AE
(uffs{oaoofffgﬁﬁzﬁ ) dB(A) 1 3~200 <63 ‘ <65 ‘ <68 ‘ <70 ‘ <72
B RENEETNEE Moment Of Inertia Of The Reducer
i REL RIEEL,
Spec#fcgltions Node Number Reduction Ratio Wiy Lo 115 ko i
3~10 0.35 2.25 6.84 23.4 68.9
IRE J, Kg-cm’ 1 14 0.07 1.87 6.25 21.8 65.6
20 0.07 1.87 6.25 21.8 65.6
TIRRIEEL(i=N,/N,,) 2. B RINERIIEET,,=60% of T,r 3R 0rpmET |, EBETFREMP OIS,

BB, (ER%/910000hrs



T
m
T
0O
>
=
®
m
>
Py

P08

B R <FE& Dimensional Drawing

R (824, /&L i=3~20)
DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~20)

i Output BN Input
PCh
»C3
sl -
(&)
2 ©
Bl g il | [ L2
13 oCc1 d80
080
| ®D2 || i L5 L6
. 3 [
Ry g_n )
—| 882
6 Cle
k) N @D ¢D
~PD7 - L 7
L8 c7
@ N
§ D65 (depth)L9
' Hi
Il R~F 3 Dimensional Table [E£7Unit: mm]
R Size 060 090 115 142 180
D1 70 100 130 165 215
D2 55 6.6 9 1 13
D3 s 16 22 32 40 55
D4 o 50 80 110 130 160
D5 45 65 95 75 95
D6 M5x0.8P M8x 1.25P M12x1.75P M16x 2P M20x2.5P
D7 80 116 152 185 240
L1 60 90 115 142 180
L2 37 48 65 97 105
L3 7 10 12 15 20
L4 1.5 15 2 3 3
L5 25 32 40 63 70
L6 2 3 5 5 6
L7 6 8 10 12 15
L8 145 203 259 333 394
L9 12,5 19 28 36 42
crt 70 100 130 165 215
c2' M5x0.8P M6x1P M8x1.25P M10x1.5P M12x1.75P
c3' *<14/<16 <19/<24 <32 <38 <48
c4' 30 40 50 60 85
C5' cs 50 80 110 130 180
c6' 8 4 5 6 6
c7' 60 90 115 142 190
cs' 19 17 19.5 225 29
c9' 115 152.5 1915 235.5 303.5
c10* 135 10.75 13 15 20.75
B1 1o 5 6 10 12 16
H1 18 245 35 43 59

*070 5,10 JHIRLLIRHC3<16mTiE,



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20

